Abbreviations

R ring Ch chain

SLT Shoe lace trick (tie knot) RwW Reverse work

SS Switch shuttles Cl Close

vsp Very small picot B Bead in place of picot
+B Add bead to picot before joining T&C Tie and cut

Add 24 beads to Sh1 and 12 to Sh2. Start with Sh1l and move 1 B to back of hand before

making first R

Rl: 3-2B2-3CIRW

Ch: 2vsp6-2RWSS

Ch: vsp 4 RW move 1 B to back of hand before starting next R (see fig. 1)
R2: 4 + B (lastbut1Ch)4-4B4ClIRW

Ch: 4 vsp 2 SLT RW (see fig. 2)

Fig. 2
Fig. 3
SCMR3: 2 vsp 1 SS (3 B @ back of hand)
R: 1+ (lastp)2B2B2B2vsp1ClSS
SCMR3: 1 + (vsp last R) 2 CI SLT (see fig. 3)

Ch: 2 + (vsp last Ch) 4 RW move 1 B to back of hand before starting next R
R4: 4B4-4-4CIRW

Ch: 4 + (vsp on opposite Ch) RW SS (see fig. 4)
Ch: 2+ B (R4) 6 vsp 2 RW move 1 B to back of hand before starting next R

R5: 3+B(R1)2B2-3CIRW (see fig.5)
*Ch: 2 + (vsp last Ch) 6 - 2 RW SS
Ch: vsp 4 RW move 1 B to back of hand before starting next R
R6: 4 + B (last but 1 Ch) 4 + B (R4) 4 B 4 CI RW
Ch: 4 vsp 2 SLT RW
SCMR7: 2 vsp 1SS (3 B @ back of hand)
R: 1+ (vsp)2B2B2B2vsp1lCISS

SCMR7: 1 + (vsp last R) 2 CI SLT RW
Ch: 2+ (vsp last Ch) 4 RW move 1 B to back of hand before starting next R

R8: 4B4-4-4CIRW
Ch: 4 + (vsp on opposite Ch) RW SS
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Ch: 2+ B (R8) 6 vsp 2 RW move 1 B to back of hand before starting next R
R9: 3+ B(R5)2B2-3CIRW

Continue again from * to R8

R8: 4 B4 + B (R2 of first repeat) 4 - 4 CI RW

Ch: 4 + (vsp on opposite Ch) RW SS

Ch: 2+ B(R8)6 + (vsp 1 Ch) 2 T & C to base of R1
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